Starburst 1 Grade 3 Coins KEY

Name:

Class: Graders, each question is worth 1.5
points. Use your judgment for partial credit.
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Which set Which set
Is more than 10 cents? Has coins that are not the same type?
Is less than a quarter? Is more than $0.15?
Has few than 3 coins? And makes and even number of cents?

And makes and odd number of cents?

D
A

How much money is in the piggy bank?
12 Nickels
11 Pennies =

71 cents




How much is each row of coins worth?

Total
63 cents

61 cents

Total
69 cents

Total
87 cents




How much change? Graders, students can use any method to show coins.
You can use Q for quarter, D for dime, N for nickel, and P for penny.

Jennifer has 8 coins that equal 74 cents. Which coins does she have?

QQDDPPPP
Blythe has 7 coins that equal 86 cents. Which coins does she have?

QQDDDNP

Jay has 7 coins that equal 47 cents. Which coins does he have?

DDDDNPP
Mike has 4 coins that equal 30 cents. Which coins does he have?

DDNN

Nico has 4 coins. List the coins and the possible amount he could have.

Answers will vary. Use your best judgement.

Spending Money

List two things someone would likely use coins to buy.

Answers will vary. Use your best judgement.

List two things someone would not use coins to buy.

Answers will vary. Use your best judgement.



